=

hai

14 Vocabulary S3 Answers

A2—R—T B5I0 YATE HOELE,
Supa de goko no ringo o kaimashita.
(I) bought five apples at the supermarket.

1 1w 2 Fun 3

!
N
o
>

mai ko hon

The correct answer is #3- Z .

This is essentially a question about using counters. Apples ( }) AT, ringo) are smaller objects so we
can use the counter I, which is used to count smaller objects like this.

Other Answers

{3\ - hai, counter for cupfuls

27— 213w XkIi3E AT,

Supiin ni-hai no sat6 o iremashita.
() put two spoonfuls of sugar in.

F U\ — mai, counter for flat objects

FBEDO =X58%2 IV HoTWET,
Densha no kippu o san-mai motte imasu.
(I) have 3 tickets for the train.

1A - hon, counter for long cylindrical objects

2]

b-LIT =K X% F-5T0ET,
Watashi wa sanbon pen o motte imasu.
I have 3 pens.

IZIIATT AT (FEXW,
Nihongo de kotaete kudasai.
Please answer in Japanese.

1 270 ->7T 2 HI=LT 3 25T 4 22T
tsukatte watashite tsukutte kotaete

The correct answer is #4- C1c AT .

Looking at the first part of the sentence |Z1Z A Z T, in Japanese, we can guess we are talking about
speaking. We can't really say we ‘use’ (answer 1), or ‘make’ (answer 3), something in Japanese. Or ‘listen’
(answer 2), in Japanese. We usually listen to Japanese. So that leaves us with 27z ZC, which is the
T -form of Z7=2Z% (kotaeru, to answer). That fits the best in the sentence above.
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Other Answers

2> - tsukatte, T -form of 279 , tsukau, to use

FWIb LT Hi=Fr Oh->TWET,

Mainichi shigoto de atama o tsukatte imasu.
Every day, (1) use (my) head at work.

7= LT - watashite, T -form of 4>7/=7, watasu, to hand over (something)

ZDZAUDE  bIELTLEIN,
Sono enpitsu o watashite kudasai.
Pass (me) that pencil, please.

{5 T - tsukutte, T -form of 5<%, tsukuru, to make

Hr=LIE ' D(STWET,

Watashi wa pan o tsukutte imasu.
(I) am making bread.

(3] Z0XAZIZ SrHTOET,
Sono ginko ni tsutomete imasu.
(D) work (lit. serve) at that bank.

1 37=601WT 2 B\WT 3 22T
hataraite oite tsutomete

The correct answer is #3-2& 87T .

4 LZTklLT
shigoto shite

Z D$R4T (sono ginko, that bank) is marked with the (T particle, so we can’t use |37=5\T or L Z¥
LT both of these are used with the T particle to mark where the subject is working. HBW\T is the
T -form of H< (oku, to place), which doesn’t work here either. The best answer is D ¥ T, which is

used with the (T particle.

Other Answers

l37= 5T - hataraite, T -form of |3/=5¢ , hataraku, to work
2F/M RRET BE60TWET,

Ni-nen-kan Tokyo de hataraite imasu.
() have worked in Tokyo for two years.

BT - oite, T -form of H< , oku, to put

ZZIZBNWTLEE WD,
Koko ni oite kudasai.
Please put (it) here.

L Z¥ LT - shigoto shite, T -form of L Z¥ 3%, shigoto suru, to do a job
SH bHLIE LITZE KATWET,

Kyo watashi wa shigoto o yasunde imasu.
Today, (1) am taking a day off of work.
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bizLd 2»TOTIE S I2BE =RET,
Watashi no katei dewa yoku sakana o tabemasu.
In our household, (we) often eat fish.

= 2 =T 3 ATn 4 NZL
hashi tatemono katei kazoku
chopsticks building household family

The correct answer #3- H7TL>.

The T particle is used to mark where an action is taking place or the method we are using to do
something with. So a lot of the other answers seem to make sense in this sentence. However, it is

ungrammatical to mark them with the topic marking particle (3 .

Other Answers

3L - hashi, chopsticks
LT I FLE ELT ANIET

Watashi wa yoku sushi o hashi de tabemasu.
I usually eat sushi with chopsticks.

7=THD - tatemono, building

FALAIIHIE o8 2Tl dUET,
Ginko wa kono rippa na tatemono ni arimasu.
The bank is in this elegant building.

» %2 - kazoku, family

NI ECT AT3EL =,
Pari ni kazoku de ikimashita.
(I) went to Paris with my family.

(5] vwapt wWhizblwd  BuTHET,
Inu ga ichi-nichi-ju naite imasu.
(My) dog barks all day.

1T nwgHZ 2 W 3 BANK 4 TAZ
reizoko inu ongaku denki
refrigerator dog music electricity

The correct answer is #2- L &3 .

The verb at the end of this sentence is L\ T\ ¥, which is the T+ WF 4 form of 7L< , naku, to
make a sound (animal). So we need to look for something that makes an animal sound. Unless your

refrigerator is possessed by the devil, \\¥2 is the best match for that.
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NZ I 2 - reizoko, refrigerator

BHeld NWEHIZIT A-STWET,
Ocha wa reizoko ni haitte imasu.
The tea is in the refrigerator.

BANK - ongaku, music
HrzLIE BAMNE HELNL5 ZHLLIET

Watashi wa ongaku o kikinagara s6ji shimasu.
While I listen to music, I clean.

TA X - denki, electricity; lights

TAER DT (E3W,
Denki o tsukete kudasai.
Turn on the lights, please.

(6] TLEZ FLT (FEXWN,
Terebi o keshite kudasai.
Turn off the TV, please.

1T ©TAT 2 BUYT 3 LT
yasunde orite keshite
take a break get off turn off

The correct answer is #3-13 LT .

4 12T

nete
lie down

Since 7 L £ is marked with % , we know it’s the object of the sentence. So, what can we do with a
TV? X>FAT and #Q7T are intransitive and can’t take an object. $1) T can’t be used in this sentence

obviously, so you just have |7 LT, ‘to switch off”.

Other Answers

X°>3AT - yasunde, T -form of {kZ>, yasumu, to take a break

S8 brLE LIY® hRATOET,

Kyo watashi wa shigoto o yasunde imasu.
Today, (1) am taking a day off of work.

H1) T - orite, T -form of H1) 5, oriru, to get off; to alight
RKIRERT  BYTLEXWN,

Osaka eki de orite kudasai.
Get off at Osaka station, please.

#aT - nete, T -form of 425 , neru, to sleep; to lie down
Nzl bHELO WTIT HATHWET,

Neko wa watashi no isu de nete imasu.
(My) cat is sleeping on my chair.
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WOH Lo lwINAIl SAZIDD 1ZAEZ SHFT
Itsumo isshi-kan ni san-satsu no hon o yomimasu.
(I) always read three books a week.

1 IAXD 2 XAIXA 3 XAFW 4 AT
san-satsu sanbon san-mai sanbai

The correct answer is #1- TAED.

This is a question about counters. Which counter should we use in this sentence? Should we use 1) X,
2) 1A, 3) FuW or 4) I3 ? Since we are counting books, we should use X2, which is usually used
to talk about volumes.

Other Answers

XAIXA - sanbon, 3 ( XA, san) long cylindrical objects ( 4%, hon)
LT =F X% EFo5T0ET,

Watashi wa sanbon pen o motte imasu.
I have three pens.

XA F\ - san-mai, 3 ( XA, san) flat objects ( L\, mai)

FBED 2535% 3F0 HoTHET,
Densha no kippu o san-mai motte imasu.
(I) have three tickets for the train.

TAILV — sanbai, 3 ( XA, san) cupfuls ( I\, hai)

27— 2130w X¥IHI3E O ANnFL,

Supiin ni-hai no sat6 o iremashita.
() put two spoonfuls of sugar in.

(8] WoXitiz FAME BUETA Y NAXL)  LTOALDT  E5T0ET,
Getsuyobi ni tesuto ga arimasu ga, amari benkyo shite inai node komatte imasu.
There is a test on Monday, but (I) haven’t been studying so much, so (I) am in trouble.

1 WH5-5TWET 2 DYHTWET
naratte imasu tsutomete imasu
learning serving (for a company)

3 TXTWET 4 2FoT0ET
dekite imasu komatte imasu
to be ready to be in trouble

The correct answer is #4- T X > TWET .

The speaker has a test, but hasn’t been studying that much. That sounds like a tough situation, so
the best fit is ZF>TWET .
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Other Answers

55 CWE$ - naratte imasu, the T\ 7 form of 759 , narau, to learn

b=l FI¥—% LH5-oT0ET,
Watashi wa gita o naratte imasu.
I am learning guitar.

DY HTNET - tsutomete imasu, the T E T form of DX %, tsutomeru, to serve (a company)

LI B2rLD 2z DY¥HTHWIT,

Watashi wa okashi no kaisha ni tsutomete imasu.
(D) (work for / serve) a sweets company.

TXT\WE T - dekite imasu, the T\ F T form of TX%, dekiru, to be able (to do something)

N F72 TETWIEA

Kore wa mada dekite imasen.
This isn’t ready yet.

9] X-LLXAE 4PV (3FF E-oT0ETL,
Kitamura-san wa yon-dai no kuruma o motte imasu yo.
Ms. Kitamura has 4 cars.

1 XA 2 7=\ 3 M 4 13w
ban dai kai hai

The correct answer is #2- 720> .

This is another question about which counter to use. This time, we are talking about cars. Cars are

‘machines’ so we can use the counter for machines — 7=\\.

IXA - ban, night; counter for nights

ZO—HAMDIL, SN=TA. ZORTIVIC YFVET,
Sono isshi-kan no uchi, futaban, sono hoteru ni tomarimasu.
During that week, (1) am staying at that hotel two nights.

M — kai, counter for times

Vo NMFDIT AW BIEIC 7359,
Ikkagetsu ni san-kai oyogi ni ikimasu.
(D) go swimming 3 times a month.

IV — hai, counter for cupfuls

AT—=r Zldnwo TXIHE AT LA,

Supiin ni-hai no sato o iremashita.
(D) put two spoonfuls of sugar in.
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POED VE ALY ANT (EXN,
Kaigi no hi o karenda ni kaite kudasai.
Please write the day of the meeting on the calendar.

1T = 2 NUAF 3 77 4 HLvF—
shiiru hankachi tépu karenda
sticker handkerchief tape calendar

The correct answer is #4- AL > 5 —.

The topic of the sentence is a meeting day, 7"\VX¢® (), which we can write on a calendar. None
of the other answers makes much sense.

v —JL - shiiru, sticker

ZOY—=IE  ZHIT 1IS5TLIEERN,
Kono shiiru o sore ni hatte kudasai.
Please attach this sticker there.

/N> 77F — hankachi, handkerchief
NoHFIE RN HYFET,

Hankachi wa poketto ni arimasu.
There is a handkerchief in (his) pocket.

7 —7 - tépu, tape
rxrx HFuwir—7% ®H3FT,

Tokidoki furui tépu o kikimasu.
Sometimes (I) listen to old tapes.

M) B350 WELIELEL, DLT (30,
Ofuro ga nuruku narimashita yo. Atsuku shite kudasai.
The bath has gotten lukewarm. Please warm it up.

1 99K 2 3% 3 oK 4 ¥a5<¢
usuku hosoku atsuku nuruku
thin thin hot lukewarm

The correct answer is #4- %< .

The second sentence asks the listener to warm something up, so it makes sense that the bath has

gotten lukewarm. I\ is usually used to describe objects with volume, like a person. 9 ¢ \»
can be used to describe a liquid (e.g. thin vs. thick soup), which doesn’t make sense here since the

speaker is talking about warming it up. We can’t use D\, because the speaker wants it to be
hotter.
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Other Answers

93\ — usui, thin (for relatively flat objects or liquids)

ZHa—kt—ld bBro¥ IHITVTT
Kono kohii wa chotto usui desu.
This coffee is a little weak.

1<\ — hosoi, thin (for objects with volume)

ZOT—=7ND HLIT KT 1IZ2VWTT,

Sono téburu no ashi wa nagakute hosoi desu.
The table has long slender legs.

HDOU — atsui, hot (thing)
HhoOWI—E—=2 HYFTL

Atsui kohii ga arimasu yo.
There is hot coffee.

12] 21913 XLVWOT HOV IbX¥E XFLiI,
Kyo wa samui node atsui uwagi o kimasho.
It’s cold today, so let’s put on a thick jacket.

1T ®FEW 2 HOW 3 BBw 4 32N
semai atsui oi futoi
narrow thick many fat

The correct answer is #2- 20> .

HDU actually has three meanings — hot (thing), hot (weather) or thick. The three different
meanings use different kanji. 2\ (atsui) means ‘hot (thing)’, &\ (atsui) means ‘hot (weather)’, &
U (atsui) means ‘thick’ or ‘deep’. Unfortunately at the NS level, you do not have kanji to help you,
so keep these meanings in mind when you see the word in hiragana.

We can’t use 3-¥ U to talk about a thicker jacket. It’s not commonly used to describe jackets
actually, but it can be used to describe ‘wide pants’.

3L WK

futoi zubon

wide pants

Other Answers

& F\\ - semai, narrow; confined

LD IZhld brok HFWTT,

Watashi no niwa wa chotto semai desu.
My garden is a little small (lit., narrow).
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BB - 6i, many
ZOSWIE DEHN BBWTT,

Kono fuyu wa yuki ga oi desu.
This winter, there is a lot of snow.

S¥ W — futoi, fat

BYLEIAT JxwizT #ELFLA,
Morishita-san wa futoi koe de hanashimashita.
Mr. Morishita spoke in a deep voice.

13] bhELD a—t—ld, EEIIADLY  HITVTT,
Watashi no kohii wa, Tanaka-san no yori usui desu.
My coffee is weaker than Mr. Tanaka’s.

(IREC AN 2 HFun 3970 4 320
hosoi semai usui futoi
thin narrow thin fat

The correct answer is #3- 590>,

To describe something that is relatively flat or is a liquid like coffee, we need to use 9 3\ (usui,
thin; weak). |3Z\» (hosoi) does mean ‘thin’, but it is used for something with more volume like a
person. 3¢\ (futoi, fat) also can’t be used to describe a liquid like this. It is most often used to
describe something that is voluminous and round like a cable or wire.

Other Answers

1ZZ ™ - hosoi, thin (for objects with volume)

ZOT7T—=7NVD HLIT KT 13Z2VWTH,

Sono téburu no ashi wa nagakute hosoi desu.
The table has long slender legs.

HF U\ - semai, narrow; confined

HELD IZhld bro¥ HFFIWTT,

Watashi no niwa wa chotto semai desu.
My garden is a little small (lit., narrow).

S — futoi, fat
BYLEIAIT HxnwIzxT #=HLFELA,

Morishita-san wa futoi koe de hanashimashita.
Mr. Morishita spoke in a deep voice.
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WD 2D IbEE LI,
Itsu sono uwagi o kaeshimasu ka.
When are (you) going to return that jacket?

1 MZALET 2 LNEET 3 nAVET 4 PIVET
kaeshimasu migakimasu kaerimasu kaburimasu
to return to polish to return (home) to put on (one’s head)

The correct answer is #1-hZ LZE 7 .

We are asking a question, so we can assume the subject is ‘you’. And the object is a jacket. What
can ‘you’ do with a jacket? Well, we can’t polish it and you would get some strange looks if you put
it on your head. So answers 2 and 4 are out. The verb »'Z ) ¢ (kaerimasu) is used to talk about a
person returning home, and it’s intransitive so it doesn’t take an object. That leaves us with 7*%2 L £
3 (kaeshimasu).

Other Answers

A7V % F 9 — migakimasu, the polite non-past form of £ 7'< , migaku, to polish; to brush (one’s) teeth

RNBENT 3% HAAWTLES N,
Neru mae ni ha o migaite kudasai.
Before going to bed, please brush (your) teeth.

M Z V) £4 - kaerimasu, the polite non-past form of »*'Z % , kaeru, to return (home)

AW Dtk riVELE,
Eiga no ato kaerimashita.
(I) went home after the movie.

M3 £ 3 - kaburimasu, the polite non-past form of 7325 , kaburu, to put on (one’s head)

BNIAE #HLWIHILE -5 ThFELA,
Ishikawa-san wa atarashii boshi o kabutte imashita.
Ms. Ishikawa was wearing a new hat.

5] L»>T21c Zolkix X%FT,
Shi-gatsu goro ni kono hana wa sakimasu.
This flower blooms around April.

1T bxF 7 2 XxF9 3 3LET 4 30FET
akimasu sakimasu sashimasu furimasu
to open to bloom to open (an umbrella)  to fall (rain)

The correct answer is #2- & %9 .

The subject of the sentence is |37 (hana, flower). What can a flower do? You might think it can
open ( & %%, akimasu) like answer 1. But, there is actually a different reading to describe the
action of a flower opening. We use Ff < (hiraku, to bloom; to unfold). Note it uses the same kanji,
and can easily get confused with < (aku, to open). You use different readings depending on the
context.
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So answer 1 is out. And flowers cannot use X[ 7 (sashimasu, to open [an umbrella]). This is
usually an action limited to people. 3-1) £ ¥ (furimasu, to fall) is almost always used with weather
like rain, sleet, or snow. If you want to talk about the flowers ‘falling,’ you should use 85 %7
(ochimasu, to fall down; to drop). That just leaves X X3 (sakimasu, to bloom).

Other Answers

& XX 7 - akimasu, the polite non-past form of < , aku, to open
ZOJEIX fAERIC BAXET.

Kono mise wa nan-ji ni akimasu ka.
What time does this store open?

XL £ - sashimasu, the polite non-past form of X7, sasu, to open (an umbrella)

anps ET»s X% XLET,
Kuruma kara dete kara kasa o sashimasu.
Once (1) got out of the car, (I) opened (my) umbrella.

31 £4 - furimasu, the polite non-past form of 3.5 , furu, to fall (rain)

D) WA H-oTwIEL,
Kin6 ame ga futte imashita.
Yesterday (it) rained.

N IAIE L R—=¥—% BUIL -,
Tanaka-san wa erebéta o orimashita.
Mr. Tanaka got off the elevator.

1T Ry 2 77— 3 L RXR—=F— 4 ML
surippa puru erebéta toire
slippers (swimming) pool elevator restroom

The correct answer 3- TLAX—%2—,

First, take a look at the verb of the sentence - $1) £4 (orimasu, to get off). What can we get off
of? We can get off trains and buses. But we can’t get off A').y/X (surippa, slippers). We get out of
a pool, not get off of one and unless the restroom ( kA L, toire) is on stilts, we can’t use answer 4.

That leaves use with ZT] X—%¥— .

Other Answers

A1) w7\ — surippa, slipper

WATIE Ay ITVWTLESN,
le dewa surippa o haite kudasai.
In the house, wear slippers, please.
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7—)l - piru, pool
LI Thbiz T=IbE DY EWTT,

Watashi wa niwa ni piru o tsukuritai desu.
I want to make a pool in my yard.

M4 L - toire, restroom

MML%Z »LTLEIN,

Toire o kashite kudasai.
Can I use your bathroom? (lit., Lend me your bathroom, please.)

L)

By
LR

/!

178508
P

(Ol HBD LTI HYET.
Kutsuya wa michi no muko ni arimasu.
The shoe store is on the other side of the street.

1T LA 2 £29 3 ¥% 4 0'H
ushiro muko mae gawa
behind across the ~ in front of side

The correct answer is #2-HZ 5 .

There will most likely be one question in the Contextually-defined Expressions part of the
Vocabulary section that involves location words and an illustration. Knowing your location words
well can really pay off. Here we are talking about the shoe store ( {-2X°, kutsuya) in relation to the
street ( &% , michi). We typically use 9 L5 and % % for objects that partially cover or obstruct
another. And, it is too confusing to use 74> .

The best answer is 229 (muko, across the ~; on the opposite side of ~). Keep in mind that we use
this word with the object being crossed, not the object across from or facing a location we want to
describe.

O LD wzix N L&IHT »HVET
Watashi no ie wa kawa no muko ni arimasu.
My house is on the opposite side of the river.

Other Answers

9 L A - ushiro, behind

LD EAIZ SLEIRWTLESN,
Watashi no ushiro ni tatanaide kudasai.
Don’t stand behind me.
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¥ Z - mae, in front of

WAD RN BHOWRY HUIET
le no mae ni takai ki ga arimasu.
There is a tall tree in front of (my) house.

N4 — gawa, side

PEYIE AHEINDIT HYET
Yaoya wa migigawa ni arimasu.
The greengrocer is on the right side.

‘ES'

<
elshEh HOLEEh [CLEHEN

BYLEIAT 7EUhIAY IZLLHEIAD  HWEIZ WwWET,
Morishita-san wa Tanaka-san to Nishimura-san no aida ni imasu.
Ms. Morishita is between Ms. Tanaka and Mr. Nishimura.

1T X% 2 225 3 HWE 4 UMZY
mae tokoro aida hidari
In front of place between left

The correct answer is #3- LMz .

This is a simple matter of knowing what location word to use. The sentence uses the ¥ particle to

connect Ms. Tanaka and Mr. Nishimura. What location word can we use with the ¥ particle? Well,

the word $\ /= usually needs two objects to be between and uses the ¥ particle to mark those

items. None of the other answers can be used in this situation because of the ¥ particle.

Other Answers

¥ Z - mae, in front of

WD AN mUWKRDY HUET,
le no mae ni takai ki ga arimasu.
There is a tall tree in front of (my) house.

¥ Z % - tokoro, place

ZONPITIE RNHZXIAN HUEEA
Kono heya niwa neru tokoro ga arimasen.
There is no place to sleep in this room.
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OMZY - hidari, left

N ENST (XN,
Hidari e magatte kudasai.
Turn left, please.

IZLLHIAE DVEAE DIF->THET,
Nishimura-san wa kaidan o nobotte imasu.
Ms. Nishimura is climbing the stairs.

1 ADA 2 FwWYIs 3 NWEA 4 5570
genkan daidokoro kaidan roka
entryway kitchen stairs hallway

The correct answer is #3- bW \FEA .

This question is essentially checking your vocabulary knowledge with a picture. It's common to see
at least one of these on the test in this section. Obviously what you see in the picture is a staircase,
which is 7*\/Z A in Japanese.

Other Answers

\FA DA - genkan, entryway
TADAD Z50% LELK

Genkan no soji o shimashita.
(D) cleaned the entryway.

7=\ ¥’ 2 A — daidokoro, kitchen

HELO WZlE EFWYIAN bio¥ hENWTT,
Watashi no ie wa daidokoro ga chotto chiisai desu.
My house’s kitchen is a little small.

%9 H - roka, hallway

HILWTTNL, AIN%E FLELVTLEIN,
Abunai desu kara, roka o hashiranaide kudasai.
It’s dangerous, so don’t run down the hallway.
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FDIIAE Wb XAD D20 712 HUET,
Sono hon wa Ishikawa-san no tsukue no ue ni arimasu.
The book is on Ms. Ishikawa’s desk.

1 2<{ 2 2 T—7) 3 W§ 4 ZATER
tsukue téburu isu hondana
desk table chair bookshelf

The correct answer is #1- D< % .

This question is basically asking if you can identify the object in the picture. It’s likely that you will
see at least one of these on the test. You can see a desk in the picture, so the answer is ©<¢ % .

Other Answers

7—7)l, téburu, table

ZDOT—=7ND HLIZ KLTUIZWTT,

Sono téburu no ashi wa nagakute hosoi desu.
The table has long slender legs.

W77, isu, chair

WTE LoD LBHERNTLEIN,
Isu o yottsu narabete kudasai.
Please set out four chairs.

1ZA 7275, hondana, bookshelf
ZAERIZ LA HUET,

Hondana ni jisho ga arimasu.
There is a dictionary in the bookshelf.
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